3.0A.A.2: Interpret whole-number quotients of whole numbers, e.g., interpret 56 + 8 as the number of objects in each share when
56 objects are partitioned equally into 8 shares, or as a number of shares when 56 objects are partitioned into equal shares of 8
objects each.

Complete the tables below.

8 10 12

Find the quotient.

40+5=

16 -2 =

48 -2 =

50 5=
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Answer Key

3.0A.A.2: Interpret whole-number quotients of whole numbers, e.g., interpret 56 =+ 8 as the number of objects in each share when
56 objects are partitioned equally into 8 shares, or as a number of shares when 56 objects are partitioned into equal shares of 8
objects each.

Complete the tables below.

8 10 12
4 5 6

10 20

2 4

Find the quotient.

40 = 5= 8

16 =-2= Q

48 =~ 2 = 24

50 +-5= 10
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